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Graph Using Intercepts

Goal - Graph a linear equation using intercepts.
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y-intercept Twe N~ CoorDimATE OF A Paimt
Lo e e TWELING ClossES THE Y-axis
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Find the intercepts of the graph of an equation

8x — 2y = 32.

Solution [X INTERCE €T |

1. Substitute O for y and solve for x.

8 — 2y =32 &

o
8x — 207 = 32
X = 32

%

X |

Find the x-intercept and the y-intercept of the graph of

(X,0)

Write original
equation.

Substitute O
for y.

Solve for X .

2. Substitute O for x and solve for y. \ Y-inoTERQ CEPT \ (o ) Y N

8x —2y =32 &

(o]
807 - y =32

=

(Y=l

Write original
equation.

Substitute O
for x.

Solve for Y .

dThe x-intercept is "f_\ﬁhe y-intercept is

""“a-\
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ToarTiotes 0 Checkpoint Find the x-intercept and y-intercept of the
graph of the equation.

1. 2x + 3y = 18 2, —12x — 4y = 36
(,cn wrile e cepts -2 Ix:jq I\IIIL, - |X‘-'5l IY‘."'CI
(a,9) (o6 (-30) (6,-%)

D X ¥

Use intercepts to graph an equation

\Grap 5x + 2y = 14} Label the points where the line

crosses the axis.

2) ovde-ed pairs

Solution
Step 1 Find the LNTER CEPTS
}9 3.5x + 2y = 14 “"ﬁa.sé + 2y = 14
o (o]

3.5x +2(07) =14 | 3507 + 2y = 14

N = ""I =_':'I_ Y=L’=i
35 d

Step 2 Plot the points that correspond to the intercepts.
The x-intercept is _'_'I_, so plot the point (4 ,0)
The y-intercept is i, so plot the point (Ol 7).

Step 3 Co anesy  the points by drawing a line
through them.

s o W l‘n't.\t. en X -Vede
o Lo NINGT T ”'a (fe  x=1)
% Bk Sotue fu-
(| ' 3.5(2) +;-6.= LY

CHECK l &

You can check the graph of the equation by using a
ird point. When x = 2,y = 3.5 , so the ordered pair
3.5 Jis a third solution of the equation. You can see
\ that&;{@ lies on the graph, so the graph is correct.
N
This PoinT
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Your Notes

-
Homework

~

Use a graph to find the intercepts

Identify the x-intercept and y-intercept of the graph.

Solution

To find the x-intercept, look to see where the graph
crosses the X-axis . The x-intercept is =2 . To find
the y-intercept, look to see where the graph crosses

the Yeotis . The y-intercept is 2 .

-

0 Checkpoint Complete the following exercises.

3. Graph 2x — 7y = 14, Label the points where the
line crosses the axes. _
2% =T7y=1Y

R

§. IDenTFY ThE X ANDY INTERCEPTS.

- x|
:.é._i \/"5
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